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ﬁiﬁ% TREOBBOESSLADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREDHESSLNDKRES
; 100kN/mM%#8Z5| 1.00 | 0.00 ~ 201 131.00 |3mZEBAB| — ~ — — — | 100kN/mi% 825 | 1.00 | 1065 ~ 1793 | 131.00 |3mEHEZS -~ — — —
Zh st 1.00 | 201 ~ 9.79 100.00 | Fhilst | 000 ~ 9.79| 2.46 13.14 Fhst 1.00 | 5.00 ~ 1063 100.00 | =nLs | 500 ~ 1793 | 2.46 13.14
2 100kN/m%#BZ5| 1.00| 000 ~ 1.59| 12454 |3mZEBZB| — ~ — — — | 100kN/mi%#BZ5 | 1.00 | 11.01 ~ 1640 | 124.34 |3mEHEZD - ~ — — —
Zhst 1.00 | 1.69 ~ 9.38 100.00 | #nst | 0.00 ~ 938|266 13.65 Fhs 1.00 | 5.00 ~ 1101 100.00 | LS | 5,00 ~ 1640 2.55 13.65
3 100kN/mM%#8Z2 5| 1.00 | 000 ~ 1.72 126.39 |3mEBASH| — ~ — — — | 100kN/mi%#BZ 5 | 1.00 | 1058 ~ 1648 | 126.39 |3mEHEZS -~ — — —
ZhnLst 100|172 ~ 951 100.00 | #nS | 0.00 ~ 951|243 13.02 Zh st 1.00 | 5.00 ~ 1058 100.00 | #nLst | 500 ~ 1648 | 2.43 13.02
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
Zh st 100|000 ~ 773 99.20 | =S | 000 ~ 773|211 11.31 Fhs 1.00 | 6,00 ~ 10.50 99.20 | EnLSY | 5,00 ~ 1050|211 11.31
5 100kN/m%#BZ5| 1.00| 000 ~ 059 10872 |3mZEBZB| — ~ — — — | 100kN/mi%#BZ 5 | 1.00 | 1068 ~ 1245| 10872 |3mEHEZS -~ — — —
Zh st 1.00] 059 ~ 837 100.00| ThLs | 0oo ~ 837|210 11.27 Fhs 1.00 | 5.00 ~ 1068 100.00 | Fns | 500 ~ 1245|2.10 11.27
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
zhLst 1.00 | 000 ~ 772 99.09 | #Fnst | 000 ~ 7721211 11.28 Zh st 1.00 | 6,00 ~ 10.50 99.09 | EnLSY | 5,00 ~ 1050|211 11.28
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




